FR25E 2~3H BER(E)

A B ¢ = & £ A = %
28138 |7/k[10:00 BELEERES
148 | K
158 | £(13.00 AE[IREERRA]
168 £
178 B
188 A[10:00 HELEBEEZESL BT PEEEITEES
198 X
208K
21 K
228 | £(10:00 ALEH[KFEEZD]
23|
248 A
258 | B10:00 A&EH[KFEEZOQ]
RT®R PEEERIEZESR
268 | X[10:00 ALE[XHFEEREQ) [EEIZEREE-HHRKE]
BTH® FEERES
278K
a8 = BTk FEEERIZES,»HS
1000 TRAEZES - AT IS
] IX G2 &
28| =
38| H
48| A |¥{&H
,|10:00 BHZEES TR FEEBERIZERIMS
58 X|1000 xHZBS (RBHHE, XHAHA]
68 | K| FiEH
10:00 B BEZER RTHR PHEERIZESIHS
78 Ao mAEELEAR (RBMBSHa BEELAHS]
A=
8A | £(13:00 FEEERFMNEESEES
(t=f=L. ﬁ:‘ﬂ%hﬁs:ﬁ%ﬂﬁ%l:ﬁ%?bt%él& NHERTRICEESZHETD,)
9H |
108 B
118 A
128k [1000 PHETRHEZES
[(DEESHE. RIEESE- iR -FiR]
138 | K |FEEB
148 | K (T FfE 5 22()
158 | £(13.00 ZESEEEES (P EfEREFERC)
168 £
178 B
188 | A
198 | X[10:00 A& CHHERIE T 2C)
20H | K| (EHDAH)
21 K
28 £
238
248 A
258 B
268 | X|(10:00 KBHFES)




